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ci) Gven nNumbey = Jyjpeo0 +1¥ 00t oXio 4 2% 4
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' 100 €¢%BD

= DOOD +
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oo

= 1102306
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o 10D
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Solution-06 13-
> The Like decimal humbers have €qual number of

de civool places.

e Lke de.c,\mol Nurnbers eq,ub/olent to

@& 115 7 912 e \17-500 ,3.912
Addition o Fzenots) at the end ©f a decing

™ wen 21 doe.‘.i not CHo\no‘e M8 Valua of the number



1y Ane decimal Like aumbere eguivalent O s.04 131502
are 50400 and 13.1902 .

iy bre Like decmal nunbers €guwvalent ko o.451,3.7F ,

26.3Y4 ome & ys5l, 3,700, 98- 340 .

(w) the Lire deamal Nurbers equivalent to 3.1,2-678

and 2710103 one 2.1000,2. 6180 and 27-0103 .

lewso (5) at b€ ernd af a decmal

¢ Addikion of
not C‘nanﬁe e Vadue O f & Nimbes]

umb er does

Solakion-07T%-

ti) D-I‘—j’ ,D'LT
o.3and D-4 aNne Lee decimal mumber e

wWe rnote that e tokhole mumbey Paxls o f {jiu’eh Numberg

ore equel

Leb us Compane lo' digits.
ITr &.3 ,digit at tenths Flace -3 and
Tal-TP digk at " =y

since 4> 2, thevefove o0 .4>0.3.

t'_'-.lj Firsl, We fonve rt the ﬁ'i'u"e:n CLE-:LM;.._{ Aumb eye

lo ULke dedmal Mumbers which ane egwivalanl
litke decimolk
Hae fal numbers €quuvalent Lo 1,099 e
l-DD and 6-99 .
e no te  that tke whole numbey Pasts of given
Hambers ane ok é9ual .

ornes digit of 1.o0 154
oo of 0-99 'S 0O .

Smceel>e . Herefore 17 0.9
1.00>0.99



aud | .09, 1.093.
Fle lLike decimal tumbers equivalent to
{.0q , )093 ane (.090and [.093,

e note tmak the Whole numbey Paxts of Given

numbeys ané equal .
Let Gs now Compané Heiv tenth &ia:t—S
Tn bol, numbers, gt ak tenth s Place -o
So, we comfPane hundnedbhe digits,
Lo, We ComPared. In Loty '\U"\Bw,dig?ts p

hundoeths  Place = 9.
Hen we ComPone thousandts digits
.090 ,dsait aF thouwsandta Place = o
(.09 2 " - 2

In

Since 270, thevefore 1.093 >1.09

The WEe decimal numbers eguivalent to

0-5 ,0.05 e 0.50 and 0.05

e note tnat whole number poxhs of given

Niaralses 0% equad -

Led s Wow compane theiy tenth digibs

T™hn 0.5, dis"k at tenths place =5

0 -05 ) I — O

Since 5> O theyefore 0.5 >0 .05.



SplutiONn -0 8L -

() (APsesS the given puwckers decirnals oas  Llike decimaly

we 9et 45.1¢g aand L5550

Le compone Whole numpay’ ponds

N 45.7¢8 whole numbey s 4o

ahg.80 " 24¢c

eince 345 > 45, thefefore 45.71%L 3L45.¢0

(h ) €aprvess the given decimale as Like deamals
we et 2-1. 1ol, amnd 31, 110

e
e ﬂolzeﬂl:ha{ Loy hole number pPonts of asiven [T e

ane Eq,ual.
Lot us now Compane thet teaths digi bs

I ho th Anumbers, digib s ad Yeeda pPlace -7
Co, we omfone hundsgkhe Aigiks
v 27.7100 laundogkhe digik (5 9

21 o - s 4

cince o< |, bheselove 2,10 € 371110

(Y EapiesS the Hven d ecimals as Like decimals

5.907and § Gp3
e note bae hole number Posity ot given

Aurkers ane €gual
Leb e mow comPone theis tenths digiis
T Wolh rumbers |, digits at tenths place - q.
Lel us how CompPare theiy hundoels digits
1r. both humbers ,digits ab hundeths place - o.
50, wWe comPone ‘ousand 1.5 digits
Tn 5.907 , thousandbhs digik (s 7.
s -403, u 15 &

S5ince 3£, thevefore 5§ qoa ¢ . g



&Eluﬂl}f‘l'nci'-’
¢y 91.35 , 21.3095 ., 2.7 Q.543

capressiro Ahe gwen decimal ruvnkbers as Like

A ecirrod rnuwnbey 5 , We et
1.305, 2 o0, 2544

21.350, 2
ae (k€ decimal nuwmbers L€ £ind bat

on CnrnPf-ﬂ-:‘hd“ e

ya <2 100{21.305 Z 27-350

a-5
Thus, 2.54

22 2-7 <2 4.205 £927-35 .

decima)l num bers 1n aScending  arder

Hence +ne ﬁ“u"ﬂ“
1, 51.305 and 27 29

Gﬂg-f ;.15"13.]:}‘

ap 4,83, 4.01,29. \, ©=9, c.105.

Erpresing e given decimal NUMbLEFS AS Like

Aecirmal numbers we getk
4,535 {00 &ﬂ\.mn’a.qm.a.#oq

on  Compoung  these Like decimal nurmbers we find

thak
29,007 H4.53
D._rﬂqco_ctd 510'14’: HSE{-QL]-I

o> u.B870 > 0-q007> 0-109

Thar S

Hence, e 3'~UEn dﬁtimcﬂ Numbers AN ﬂEEEndiqﬁ pgclas

ame ©0.109 0.9, 4.07, y.53 and 29.1

ciny Solution =ib:-

¢y 2.26%, 33.03 3.3, 3033

€ pvessi™Y e Fiven decimal nuwmbers as Lke

decimal Numbers , wegek
3.203, 33.030, 308, 30330.

O Owmpasung 258 e A ecimal Nuwnhers, we E\“'\r_‘l s

2.200£ 3307 < 38-830(38- 030 .



Thus, 3 2,3.303 4302343503

vence . e Qiven vuumbers in descending avder

sme.  B3.0%,30.3% 3.303, 3.3

i) m2.5, 215 21505, 0.275,2=507,

E’A-F"F'EE-&"-?*'ES e 'fji”e"" Aécimaly 85 like decimaly . we ch[h

'—IQ-S'DO,J-]GDJ' Q-Iugns 30'215r 2‘591

o Compoxing the guven decimod Mumbers, we get

19 500> g .505 > 160> J.507 50.275

Thus, 12.6>27:50522 Asya501,027s

wence, the Gwve Mum Less i descernding orvdey ame

—9.5,R21.505, 275, 2507, 017,
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Salukion -Ole

(Hya1-5
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16,3

9.499
0030

L N

l0.02 9

£ .87
1. 073

Oel O
I r

1.0 0

CivYy 23000 o

qQ.90 0D

3
I ﬁ-Dl
2--62 3

{‘u“} L 500

6. 02 Y
5
L, 1.99o0

26.5"' A

(vi) -4 0

23,000
£.400

0.81%
L S

28 06 6

—

@.7190 % 23.0

pyr5 N4 YO-B75 - 28 .066.
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— el

(b 19.0le
|2 .234
P =z
'Enﬂl'ﬂ@’_
C:} 5.%2‘
Q.65

3.0

(v 15:.400
2.0\5

1g.4's

{3

18415
) 1y.2237

ERRE

. |.5-"—1+3-D'.5-'I*1f23" R 4478

L’LU) '1"{'10




colution - 027

WY 194 21 0
3.600

5. 6710

15.6710
(3 -6l
R
6. %58

65.65 8
(4% D-‘Eﬁ"‘iﬂ

o
1 .6 9%

(v .4 00
2.35)

e
g 049

4 o049
0. 999

—

2.950

7. 45 0
. ys o

e —

2.500

C.4=2451-14 -0999 = 2
- -
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the 5 egui¥ ed b & Le ‘1 to be added

Let
A to.158 6 < s

ﬂ_.r_“)ﬂﬂ
0-158
0.2 Y 1

Lo bLe added to ﬂe'l +-

0«2 HY

solubon e |

The ¥ & i i
%Lﬂff_d ei 1 ‘ ¢ "C
'I"'Ll.!.'l'ﬂig £ e d—'-i{ue-l"l e L;E W) @ewy

- 485 and 19 7072,

177 4S5 00
1. 91702

q,479 €

q9.4119¢% to Le Aéc
reay ed ko 9Jel
15102 .



CAerciS€ =1-4

Solukion - OV ="
6y 3.1+ 4.9

@y Tgno¥e the decimod Points and wmulkip'y the numbevs

() Count e rumbes of Jecimal Places in each nNumbe

v ke fmsst number 3.7 theve is 1 decamal Ploce

a.,r'-.d in e cecond numbher 4,5 eve s 1 decimal

Place : bhey Sum (41=2.
(C) WS LS Surt. ctavt at the righl- of the

Product s and counkt oss 2 Places . TheD pPloce

(e Aecimal point.

2.1
.S
125
1y%s *
_.——L'—'_""-'_
166 5
2.4y 5 = 16.65 .
cind 12.0% La-3.
2 o0%
Qg..:qg () Tgnove Ye decimal Poinis and rMmulbiPle
1,1 R - furm bLer s
262y :
1572 ¥ (L) count the Numbev of decimal Places
- ®
Y182 454 tn eoch number i First number 12 03,

in
Yeve IS 2 del,_:hmqlp'.nce and bhe
Gecond number 9.3 1S A dectwean plac,
Pae 1T Suw 231 =3
: . ak
(@) using Bus Sum ,gtavt bhe vight of b

pyoduct 11934y and counk 2 Place,
Ten Place checimal Foink .



L. 238 0615

22606 (P 19nose the decimal points and
€15 B Mol Y bhe nuTebexs
2020
H;‘I‘i{-"‘-rlfé'?{ (k) Count b€ NUmber of Ploaces in

7e5u 5 o each decimalk numbe v S 1n kne

‘ first numbker 238 .0 ¢ neve ome
two decimal Places and in 4ne
cecond numbey 1.5 | baeve One ane
aecmal place 3 ey sum - 5.3

Ced wamna bis Su™m, crask ot bhe
Tiakk of e pvoduct g5 450 and

Counk off 2 Placesg, ey P lace
LAl

kne decimal poink .

(VY- 6«14 32.4

0.TAL 32 Y = 0.19

(&) \Fnose the decimol pownts and mulkiply the

rigrn ey S
(1 Count bhe Number of Places in each decimal
Furekers 1 bhe Fival nuvaber 6719 btheye 0w
Lo decivoal Places ord 1™ the  Second numbey

yg.a. these 'S one decimal Place | theiY

Suery = 142 = 3.
(©) LSIHa e Sum, Stastat the ¥ \GQhk OF W
Produck 25596 and count Off 2 ploces.
then Place the decirm . poink



WY Beexleyvo-T.
Steps
(a) 1gnove the decimal PoitS and mubiply the Aumbers.
(e cguﬁl’, Ho2 numbe T ofF decimeal F‘iaces in 2ach riumb ey,
Tn bre FUESE rumbey 2.6, theve 15 4 decima) Place , and

ive bwe gecond number 1.4, théve (S 1L decwmal place,
bheve 1S5 L de o mal place.

n the Lnigd nuamber o7,

fmeiY Suwm = LHEL =3
E-é _ E‘G
A4 A =
S04
w3 2
1529
skart at e 19kt of e Prcdﬁg

Ly s vng th_ig Caar
¢ and countoff 3 Places. Then Place ot the

2652

decimal Poink.
31.52¢

vy 9.0 285 XI.G.
Steps
e decimal Points aAnd mulki ply ke numberc

(o) \Ownose bh
(1 count bre wumbey of decmol Haces \n each numbe,

n the fivst numser 9.0l . théve are 2 decimal Places
ond in the Second number Q.5 theve is 1 decimal plac

in be bhivd numbey 1+ 6, theve 18 A decimol Place

theiv Sum = (+ 2+ =4, a0l
x2s
te) usSing bus Sum, gL ast ak bhe 22528
vi9k 0f Product 26oy00 and *1€ Eﬁ,f‘-f
Ze04oo

counkt aff ¢4 Ploaces Thep Place
at be gecimal Poin
- olinrl.il



Splution -02 |

) Te.156 T4

A1.683
.{..)-‘10.."]5': .
B TL_P'I-QCE the decimal Poink in the
'zc; Tuokienk Jugt comple ting b
= div, <
;—:’ 'Sion of the Whale Nuymbe
22
ie
26
&
Hemce,

No.3s56 = 4 = 11689
vy .46 5 6

lI
LY

a2y Jugt completing the
[ AwiSion OF B ahele ruwlbes
[

o Paok of d.iu\due‘ncl-]

{F‘lace bhe decimal Ponk in the
CE_LADI_—IEE':'\J.'

(i 2.0l6 ~g

g) 2. 016 (0.7
£
6
£¢
£ 6
56

—

&)
(v B8-6Y4 3.6,

TO terwerk e d'.i\.l'lq,g.::.f

In to nolumal Number,
Shift decima) Poinmt 4o w18kt by one Place.

B.6433.6 = B-64

36
- k. O€B6Y
36



“12

Wy
tyy

—————

@.
&1} 10.% = 0.0Y.

To covvext the dwisor inko Natume! Tumnber, Skift

deciroak poynt Lo vigkk by two places.

2.5 - TR2-8x100
I
. 1280
4
s 0
43y 1280
("
32
-
0%
O%
oD
Hence 12@ 2p.04 =\R20.

'Y . Wy L 5,2

TO convest the divisor (0 to natural wumber Shift
decimol Point to w13kt by ome Place

014y
0.2

= 0-'44yXio
2
Y

= WY

o

2 1uw (o2
LS
oM
by
o
My 2 = a2,



Splubions -03
iy 4.1
To mulkiply a decimal Namber 4.1 by 1o Shifithe
decimal POint b0 the Tighr by one Place 41 .
To ™multiply a decimal number 4.9 Ly (00, Shift the
decimal Point 0 the ¥ight by two Flaces 43
To wulkiply a decimal pumber 4.7 bu 1000, Skiflt bhe
Adecimal Point to bhe Y19kt by Lhree Places 4ipo,
vy 245
To mulliPly a decimal rurmber 2.45 by o SWfL e
decimal Pomt to Bhe sighk by one Place 2y.g

To mulbiply A decdimal NumbeY 2.45 by 108, Shifl the

decunak poink to ke €19 by two pPlaces a4
o mwbPly a decwal number 2.ys5 by 1006, ghif b
decimal Poiny ke the Fishk by thwee places 3450
Cu) 0.23Y,
To muwkif a decimal Num ey 0.234 by 10, Shift ta
decima)l point to the w3k by one place 2.34 |
1o muwtiPly a decimal numbey 0.234 by 100, Shiftth,

decimal point to the vight by two Ploces 234

T ‘F'hu_LkhpPHEj a, dE’c_ima_]l rarmbker 0,273y by IDbO .EH-[’E.

the deCimal Poinr Lo the wight by thsee Placey 23,



Solukon -0OY -
(Y 1o divide a decimal number by lo |, Sft the decip,

' to Left by one place 4.7
Poink O Y TE - 0.4q

decirte) Poink by {0 Left by t;'ﬁ-g Place 4o oo

oo

To Aivide a decimal PumbeY by po0, glift bhe

decimal powy ko Left bY ihyee places 4.7 .
' = 000y

oo

VY 3.ys
.45
o ~ ©O-34S
.49
= 0. 034yg
loo
A.48
= 0.00345
leoo
(..'I'.'l:'l' 2 3.0\

—T—D - -
3 .01

Q—E—'—'_ = 0.2 300
|oD
3.01 = .02




EAdevcise-T1-5
Solubion ~Ols:
('Y 15 Polse

\ R =100 Poise.

TS Poawe - IS
oo

= Z20.716

Cwy \o2s Fmﬁf = "_{ lors
O

-~ I \10-25 Parse

LWy g3 yupees q Posse
= 6309 pPalse

;%63{3%

Voo
= T63.09 Palse .
olukbion -02%
\ €y = Lo

(Vv & rem = =1 Lo
VO

= D-BCM

LAY -15-'-_};1':\“'! = 163(
Lo

Sy

=26 320m

Ca) 120ve 2ram = 123%084 2 v
T 123 v
- 133

—_—
(L]

=123 cvgy



Solwtion -03%-

cid \ metse -looem

geve = &

Lo

{r-.ﬂl 52 cm

51% om = .'5'_.1—EI
| DO

= .28 m

Cuy v 55Cm = 100 cmd 56 Cwpy

= 155 Cw

- sg

_

100
T a5 5 m.
C sotakion —oy -
| £Em = 1000 e bew.

k_'q Y S5m = E_E
\Ooo

= 0005 Y m

N B re-R 8%
\ooao

T O-%RB e

Cur) Sk @ &

1

\'S Ooom, YREwm

VS ogg
\oOoOo

E

= 1SO0%8= b



Salubion - 05 =

ciy  \k¥g =1o0o gm™ms

319= 21 vq
lo0O

- p.0271 ¥9

(WY \cog = \OC ¥q

Jalale
= o\ ""-5
Wy 5¥g3 g9 - So00+tg g

= Soog

looo

= S.po08 ."—3.

Solubion —06%-
cloth vequived for her ghivt = 2m J0 ¢

clotn ¥equived fov Hey tyouer = Qw &S o

TDHﬂ.LEﬁgﬁxﬂF the clob bought by her = 2 v “locw,

2 S5 Cry
T T

U \SScm

-—

Hoo cmiissc,,
= S5 S Cm.

Tokad Ccloth yequived = S55S
lco

— 5 55m

50\\1‘:\{:]“ -0

o

Sunito t:'!{j,\fe'l'ﬁed b’t}‘l’;’lj buys =15 Ewn 25%”“*.:1@,25311«
n I’-‘v’b CaYy = T v T :'_?DC!‘? .
" by foot = Seom. = Soowm



Total tvaveled distance by Sunila = 152ge+ 7007

+5600%
= Nag15+5o00
- &5 &;078 M

28,115

U Tokal twavelled Aistance =
(fafala

= D377 Em.

Solubion - O82-

Apples weight = 4 k3 DI = 4090 gm.

ﬂ,r—% éﬂ% = ,&_Gggrﬁm

r

&sapes weighk

]

Man@pe S we 19k 5kKg 3009 = 5300 9m.

Tolal weidkt ofF fvwts = 40904

20604+
5300
R ——
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Price of ice cwveawm ZF |.75.
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